Integer Solutions	


In these problems, the term non-negative integers refers to the numbers {0, 1, 2, 3, ...}. The term positive integers refers to the numbers {1, 2, 3, ...}.


1.	How many solutions are there to the equation a + b = 10, where a and b must be non�negative integers?


2.	How many solutions are there to the equation a + b + c = 10, where a, b, and c must be non�negative integers?


3.	How many solutions are there to the equation a + b + c + d = 10, where a, b, c, and d must be non�negative integers?


4.	How many solutions are there to the equation a + b + c + d + e = 10, where a, b, c, d, and e must be non�negative integers?


5.	Can you generalize the pattern seen in the preceding questions?


6.	How many solutions are there to the equation a + b + c + d + e + f + g + h + i + j + k + l + m = 10, where all the variables must take non-negative integer values?


7.	How would all of your results change if the solutions had to consist of positive integers?
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